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Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — I/l * EXAMINATION — WINTER- 2016

Subject Code: 3320101 Date: 30/12/2016
Subject Name: Applied Mathematics-I1
Time: 02:30 PM TO 05:00 PM

Instructions:
1. Attempt ALL questions.

Total Marks: 70

2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of SIMPLE CALCULATOR is permissible.(Scientific/HigherVersion not allowed)
5. English version is authentic.
Q.1 Fill in the blanks using appropriate choice from the given options.
1 |§ _ -£| —
5 5
a.l b.-1 c.0 d.2
3 .4 _
NEREEE
Ul ol.-1 5.0 S.2
2 Mz=5-3i,thenz=
a.5+3i b.3+5i ¢.3-5i d.5-3i
R wlz=53idlz=
U543 Gl.3+5j 86.3-5i S5.5-3i
3 Zl - Zz =
a.21 — Zy b.0 c.l d. z:-22
3 Zy—Zz=
Wz — 7, 6l.0 8.1 S.21-22
4 imEls
x—0 X
a.0 b.log, 2 clog, e d.1
. 2X—1
¥ lim =
x—0 X
U.0 W.log, 2 s.log, e 5.1
5 i f(x) = log(e), then f{0) =
a.0 b.1 c.2 d.None of these
W %lf(x) = log(e)* dl f(0) =
.0 0L 1 5.2 5.9 ul o3
6 . (2n+3) —
| Gar
a.0 b.2 c. 2 d.-1
3 2
S lim (2n+3) —
n—o—3i \3n+2
A0 o. 2 5.2 S.-1
3 2
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7

¢

10

10

11

11

12

1R

13

13

14

¥

% (tan®x — sec®x) =
a.0 b.1 c.2

% (tan®x — sec®x) =

3.0 ol 5.2

2 roxy —

L(29)=

a.0 b. x-2¢1 c.2"log2
2 oxy —

(29 =

3.0 oLx-2x1 5.2%l0g2

- o o dy _
if x = cos@, y=sind , then =
a.cotd b.tan@ c. -cotd
°ﬂx=c056‘,y=—-sin9, cﬂ% =

W.cotd . tan@ 5. -cotd
[6x5dx = +c
a.x> b.x® x3
3
[ 6xddx = +c
UL x° ol. x5 P
5
5 33 _
[ x3dx =
2.1250 b.0 625
2
5 33 _
[ x3dx =
w1250 oL.O 3_%
i
Jomdx=____+c
a.sin~tx b.cos™t x ctan~tx
i
[omdx=____+c
U.sin"tx W.cos™ix S.tan~*x

a2y dy A
Orderofﬁ— 55-!- 6=20is
a.l b.2 c.-5
a2y dy A
Orderofﬁ— 55-!- 6=20is
.1 . 2 5 -5
Integrating factor of zx—y — ytanx = e*is
a.tanx b.e* c.sinx
2 — ytanx = e* of USCAUBIRS AU

ul.tanx ol.e* §.sinx
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d.-1

d.xlog2

5.xlog2

d. -tan@

d.250

5.250

d.cot™tx

s.cot™tx

d. 6

d. cosx

S.cosx
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Q.2

Q.3

(a)

Attempt any twoSlEURL & oll cllol AL
Iff(x) = logx then Prove that () f(xy) = £ (x + f(¥) (i6) f (£) = F(0) - f()
H(x) = logx Al W@t 53 3() f(xy) = F(x + FOIES () = £ (x) -

o)

Evaluate : lim

Evaluate : lim
x—0

Bud Qe ljm et
x—0 x

x3+27
r——3 x245x+6

(Bud Ul lim

x3427
x—3 x24+5x+6

e’+ tanx—1

Attempt any two SLEURL & oll il AL

if £(x) = log (X2) , then prove that f(x) + f(—x) = f(x?)

Hf(x) = log (=) A AR 53 3f () + f(—x) = f(x?)

Evaluate : lim
x—0

3sinx—sin3x

3

Fud et 1im 22
x—0 x

Evaluate : lim
x—0

(Eud o0t lim

4x_3x
X

Attempt any two SLEURL & oll il AL

iy = log(cosecx - cotx) then Find %
Sy = log(cosecx - cotx) dl % alul
if y = e3%cos2x then find zx—y

*ly = e3*cos2x dl z—z allell
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06

08

06

Equation of a motion of a particle is s = 2¢3 — 3t2 — 12t + 5.Find the velocity

and acceleration of a particleatt=1secand t = 2 sec
W5 50L{l olldo] U150 s =263 — 362 — 120+ 5 oll t=1 Ased ol t=2

As0d 501 oll Aol Al YaoL 2kl

Attempt any two SLEURL & oll il AL

Find the derivative of y = x2 + 2x — 1 using definition

cludl ol By = x2 + 2x — 19§ [AsCEot 53U

Using Newton's interpolation formula find y at x = 1.9 from the following table

X

0

1

2

3

4

Y

3

6

11

18

27

olldoll sles oll BULR o2jgol SozUlAlol oll Yotoll Heel x=8 U y 2llul
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Q.4

Q.5

(a)

o

W ow o N
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X 0 1 2 3 4
Y 3 6 11 18 27
Find Minimum and Maximum value of the function f(x) =x3 —4x?>+ 5x+ 7

f(x) = x3— 4x? + 5x + 7o] HetlH AUA ootctid Ukl

Attempt any two SLEUGL & oll cllol AL 06

243sinx
cosix

(Buct aell: [ 2252

Using Newton's interpolation formula find y at x = 8 from the following table

Evaluate : |

X 0 5 10 15 20 25
y 7 11 14 18 24 32
olldoll sles oll VLR o2gol SozUlAlol oll Yotoll HEEH x=8 U y allul
X 0 5 10 15 20 25
y 7 11 14 18 24 32

Evaluate : f_ilf:%:dx
. 3_
(Bud el /2, == dx

Attempt any twos?lauet & oll el AL 08

sinx
Eva Iuate -
0 smx+cosx

(¥t ellul: f z __SNE

sinx+cosx

X
Evaluate : | %

(Bl [ L0 (“")“’

Show that the area enclosed between the parabola y = x2and linesx=2,

X = 3 and x-axis is %sq.unit
UMl 52 5 URAAAU y = x2x-2& Wl 3l x=2,x =3 oA gl

YEae] Asgn = ALAsU.

Attempt any two SLEURL & oll el AL 06

{cos20+i5in20)"3{cos30—isin3@)?
{cos20-isin28)~7{cos58—isin58)3
{cos20+isin20) "3 (cos30—isin30)?
{co520—isin20)~7{cos50—isin5a)3

Simplify :

ALEIU UL

Find Square root of 3-4v10i
3-4/T0ic] cdlyn kL

Forz = 1+v/3i , Express into polar form
z=1+y/3i o ycfla AIUHL casd 52U,
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(B} Attempt any two SLEURL A oll wcllol L. 08

1. Find Melting point of alloy containing 84% of lead
p 60 70 80 90
t 226 250 256 304

1. 84% As ofl Mstlde] olctet (Blg elul

60 70 80 a0
t 226 250 256 304
2 ay _ ¥y
Solve T X
2 GBC‘T'. : ﬂ= %
3 Solve:zy-!-zy = sinx

# ok ok ok ok kR ok Rk Rk ok kok Rk
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